iy

3
P=si
i

1. ¥¥4
¥4 R0 VD) 1A Bt s B B o 2
JBA T KBFFHEHRIE2 TH 1 0% 8 %5 KR FHATEMN)

2. EBEAR

1) FEF4 KRS AT PR
2) BT 299 H[# H 4&f1 64 57164

£ Sf 74 3H10A

3) &FEtHM
AEEFSIL, I OMERFE B A OWIEICBATT 5 Z L2 HINE LT, 52B%
{0 8 BB RR ORI D i R 2 b LIIRIB 2T L, ZREDET T2/
REMEOMIRR 52 5 A WA D b )3 T~ ETRK L OBEREREIR T LT 2
EREEL T T DT OOMREMETT 20D TH D, b TR RE LI
< oofr, BELFEREMHO L WIERE T HICHlo TOE=F Y 7

4) FEHBNA
FIIESE 12 ORI 120, KBS RBEEROMRE 12, FIE 2
AR OMERR 13X, BiERR 130 )10 L7 BT - THIBIROEHOAish 1
A HKREREIE 150 SRSUAHERR 120 S EER 1 FTaE ek 1

L [ LAGEE



== 55 =
=E=A W nR%
¥ERA | RN IR 8 PRt 3 B AR A 2055 ¥ BGES
HH 1) & B B PR AR
THHE - THE - R & 4 OB RR
T 1| A B bt 5 s PR AR F = 5, 274, 600
A7) 115 P B PR AR 2V 5, 274, 600
R = 136,600 | FHEVE
1 K
)R REH = 1,055,400 | FHCRI OISR & d
1 X
A7) 1360 B B DRSS
1 X
BRECVESEREI R L X 7= RS O
AR 1 K
AR R s ER OB 295,200 | KCHEAE TS TR ER
1 X
)18 PR B PR R D VERL 2,558,000 | {AJIEELERY OFEMZE Ot
1 X
KER TR & BESEIARL DR
1 X
=K Y T FHEROKG
1 =
HiHnieR = 291,200 | BiEesR
2 [A]
WA TR, THRBEREOEFO = 305,600 | AT HH, THBROEHD
HiBh HiBh 1 X
HA K et = 284, 200 | HiAKHEG S
1 [A]
A R = 56,000 | AfRIEHIfERR
1 [A]
W EERR v 292,400 | HEER
1 =
I3 v 803, 200
-1- ES e’ =M i3 Wi 4 )



==
=]

m
2
%

R4 | KA B bE R FR 3T E BOES
H H L3l
THH - T - fER] B fr ¥ & 4 % OB ORR
Him GHE - FHEEES) = 1 803, 200
revss 2y 1 784,000 | fTE®
1 X
INBH AR S ERK 2y 1 19,200 | ZABHRRESLVERK
1 X
[R5 S =4 52V 1 177, 290
[ERES S 52V 1 177, 290
RS e X 1 38,290 | fc#yAZimE (FEhH)
1 =
%%Eﬁ%ﬁlﬁzﬁk% ﬂ 1 139, 000 %%Eﬁ%&ﬁzﬁk%
1 A
B (ZOtsmER <) X 1 6, 255, 090
Z DA = 1 3, 272, 895
— R A = 1 5,122, 015
EHRE = 1 14, 650, 000

-2 - E sz TR R



